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CHEMISTRY 

CHE-09 : BIOCHEMISTRY 

Time : 2 hours 	 Maximum Marks : 50 

Note : 

(i) Attempt any five questions. 

(ii) All questions carry equal marks. 

1. (a) Explain any four of the following : 

(i) Sucrose does not show , mutarotation, 
tinlike glucose. 

(ii) Collagen is a strong fibrous protein. 

(iii) Haemoglobin is called a transport 
protein. 

(iv) Oils wheri allowed to stand in contact 
with air develop an unpleasant odour. 

(v) Alcoholic fermentation in yeast is 
similar to lactate production in the 
skeletal muscle. 
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(b) Differentiate between codon and anticodon. 

What is the importance of initiation and 

termination codon ? 

2. Write short notes on the following : 	 10 

(i) Immobilized Enzymes 

(ii) Plasmid DNA 

S-phase of Cell Cycle 

(iv) Immune Response 

(a) Answer the following related to DNA 

replication : 

(i) Why is DNA replication 
semi-conservative ? 	 2 

(ii) What are leading and lagging 
strands ? 	 2 

(iii) Describe the proof-reading activity of 
DNA polymerase and state its 
importance. 	 3 

(b) What are lymphokines and what is the basis 

of categorizing them ? 	 3 
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4. (a) Fill in the blanks : 	 5 

(i) Antibodies are produced by 	 

cells of the immune system. 

(ii) The pH of gastric juice is 	 

(iii) Chemically, interferon's are 	 

(iv) Viruses which attack bacteria are 

called 	 

(v) Enzymatic oxidation of the primary 

alcoholic group of a sugar gives 

	acid. 

(b) How does competitive inhibition of enzymes 

help in designing drugs against bacterial 

diseases ? Explain with an example. 

5. (a) Differentiate between glycolysis and 
• gluconeogenesis. 

(b) Name the different types of lipoproteins 

found in plasma. What is their functional 

role ? 
	

4 

(c) What are uncouplers and how do they act ? 
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6. (a) Define and explain the significance of any 
two of the following : 	 6 

(i) Isoelectric Point 

(ii) Km  

(iii) Hypersensitivity 

(b) What are ketone bodies ? Under what 
conditions are they formed ? 	 4 

7. (a) Differentiate between the following pairs : 
(any two) 	 6 

(i) Noncyclic and Cyclic 
photophosphorylation 

(ii) Peroxisomes and Glyoxisomes 

(iii) Amylose and Amylopectin 

(b) Give the biochemical role associated with 
any two of the following vitamins : 

(i) Biotin 

(ii) Folic acid 

(iii) Vitamin K 
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